
B. Sc fart ICHons) 4 Pape 

Dt Ea LDEcL) onb 

Solve Seaa 

d 

Soln J + 

+a0 

cf C,e +, e 
C, Co) ad + i Syo)+ Coßa-isnan) 

A b30x + BSinox uhew A= C,t2, 

8 -

FosPS 
SeCa 

3+ 
See an 

CD+ai)(D-ai) 

b+ai) (D-a1) Sec ax 

aai D+ai)\ D- ai) 

SceaxK 

2a -a D+ 

.e 

-ai D tai CoLa 



2 

Noc e 
e 

(ha 
D+a-a Ga 

Cobax Sma 

Co au 

tana 

e 

e 
C lanax)d 

Secax e 

D-a 

Slal -i@K 

Cec ax e a 

D+ai 

So,() becom 
PI= -

2a2 

leg caa)- (+igun 
e 

-ian 

e 

Ps 
) +o tastx (e + 

P 2a1 

2a1 
CoT

a 

Hene 
Cosoplee 

z A (Jax BSnan } -nan 

-Co ax Coßay. 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

